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Worksheet on Weight  
 

1. The weight of a jackfruit is 2 pounds. What is the weight of four jackfruits? 

 

 

 

 

 

 

 

 

 

 

 

 

 

a. 118 ounces 

b. 128 ounces 

c. 132 ounces  

d. 138 ounces  

 

2. The weight of the blueberry cake is 2 kg. What is the weight of a slice if a blueberry 

cake has 25 slices? 

 

 

 

 

 

 

 

 

 

 

 

 

a. 40 g 

b. 60 g 

c. 80 g 

d. 160 g 
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3. Bolt took 380 g of noodles from the bowl containing 2 kg. What is the quantity of 

noodles left? 

 

 

 

 

 

 

 

 

 

 

 

 

a. 1 kg 420 g 

b. 1 kg 520 g 

c. 1 kg 620 g 

d. 1 kg 720 g 

 

4. If the weight of a cricket bat is 1 kg, the weight of a ball is 125 g, the weight of a wicket 

is 100 g, the weight of a wicket stand is 200 g, the weight of a bail is 50 g and the 

weight of a bag is 100 g, what is the total weight of the cricket kit? 

 

 

 

 

 

 

 

 

 

 

 

 

a. 1 kg 725 g 

b. 1 kg 825 g 

c. 1 kg 925 g 

d. 2 kg 025 g 
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5. A tennis set contains two tennis rackets and a tennis ball. The weight of a tennis racket 

is 250 g, and the weight of a tennis ball is 50 g. What is the weight of five such sets? 

 

 

 

 

 

 

 

 

 

 

 

 

a. 2250 g 

b. 2350 g 

c. 2650 g 

d. 2750 g 

 

Answer Key 
 

1. b - 128 ounces 

 

Explanation: Weight of 1 jackfruit = 2 pounds 

Weight of 4 jackfruits = 2 x 4 = 8 pounds 

Weight of 4 jackfruits in ounces = 8 x 16 = 128 ounces (1 pound = 16 ounces) 

 

2. c - is correct. 

 

Explanation: Weight of the blueberry cake = 2 kg = 2000 g 

Number of slices = 25 

Weight of a slice = 2000 ÷ 25 = 80 

 

3. c - 1 kg 620 g 

 

Explanation: Total quantity of noodles = 2 kg = 2000 g 

Bolt took the quantity of noodles = 380 g 

Quantity of noodles left = 2000 − 380 = 1620 g = 1000 g + 620 g = 1 kg + 620 g = 1 kg 620 g 

 

4. b - 1 kg 825 g 

 

Explanation: Weight of a cricket bat = 1 kg = 1000 g 

Weight of a ball = 125 g 

Weight of a wicket = 100 g 

Weight of 3 wickets = 3 x 100 = 300 g 

Weight of a wicket stand = 200 g 

Weight of a bail = 50 g 

Weight of 2 bails = 2 x 50 = 100 g 

Weight of a bag = 100 g 
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Total weight of the cricket kit = 1000 + 125 + 300 + 200 + 100 + 100 = 1825 g 

= 1000 g + 825 g = 1 kg + 825 g = 1 kg 825 g 

 

5. d - 2750 g 

 

Explanation: Weight of a tennis racket = 250 g 

Weight of 2 tennis racket = 2 x 250 = 500 g 

Weight of a tennis ball = 50 g 

Weight of single set = 500 + 50 = 550 g 

Weight of three such sets = 5 550 = 2750 g 

 

 

More Questions Coming Soon – Keep Learning! 
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